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This paper consists of ten (10) numbered pages,
including this page and Appendix A which contains
useful formulae.

Answer ALL FIVE (5) questions of 20 marks each.
Begin solutions to each question on a new page.
Show all the necessary workings.

Tables are attached for your use.

Round off all prices to the nearest cent, values to
the nearest lilangeni and decimalized interest rates
to four decimal places, and decimalized weightings
to four decimals.

Note: You are reminded that in assessing your work, account will be taken of accuracy

of the language and general quality of expression, together with layout and

presentation of your answer.

THIS PAPER MUST NOT BE OPENED UNTIL PERMISSION HAS BEEN
GRANTED BY THE INVIGILATOR OR SUPERVISOR.
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QUESTION 1 (20 marks)

“In theory shareholders are expected to exercise control over managers through some
disciplinary mechanisms...In practice these disciplinary mechanisms might not work”

Adapted from Aswath Damodaran (2006) Applied Corporate Finance p.49
Required:
With reference to the above quote, write an essay on corporate governance.
Your essay must include, amongst other relevant content:
e how the agency problem arises and the agency costs, and
o describe some disciplinary mechanisms shareholders can use to control managers
and the limitations of these disciplinary mechanisms.

QUESTION 2 (20 marks)

Part A (6 marks)
Your son has just won the EI5 million lotto. The money is paid in equal annual
instalments of E700 000 over 20 years. Your son requires a rate of return of 5% per
annum,

Required
a) Calculate how much the lotto is actually worth today.
(4 marks)
b) Assuming that the lotto management board advises him of the alternative payment
option in which he will receive a lump sum of R10 million today, advise him on
which option he should take. Explain your answer.
(2 marks)
Part B (4 marks)
Your marketing manager advises you that the implementation of the electronic
purchasing and payment system will cause the company to increase the unit sales of its
appliances 10% per year for the next 5 years. Currently (in 2019) the company sells 5
million units in one year.

Required
a) Calculate how many units you expect to sell in 2024.
: (4 marks)
Part C (10 marks)
Scroodge Bank has offered your business a E1 200 000 three-year loan at an annual
interest rate of 9%. You will be required to make equal end-of-year instalments (principal
and interest) payments on a reducing capital balance.

Required:
Prepare a completed amortization schedule for this loan.

(10 marks)
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QUESTION 3 (20 marks)
Part A (10 marks)

You have been presented with the following information about five different bonds. All
have a par vaiue of R1 000.

Bond | Current market price (R) Coupon rate (%) YTM (%)
A 1090 10 10
B 950 9 8
C 800 : 8 12
D (000 - . 11 11
| E 1200 10 12

Your university lecturer taught you bond pricing theorems which are always true.
Required:

Without calculation but rather by applying one of the bond pricing theorems you learnt,
state the theorem you will be using, state whether each of the above five bonds are
correctly priced ot not, and explain your answet in each case.

Part B (10 marks)

You are analysing the shares of Adventure World Limited, The firm has just distributed
an annual dividend of R2.50 per share. The required return is 12%. The firm projects that
ts dividends will grow at 15% and 10% next year and the year after respectively.
Thercafter the share will grow at a constant rate of 5% forever.

Required:
Calculate the current share price of Adventure World Limited.
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QUESTION 4 (20 marks)

Isolezwe Paper Milling Company (IPMC) has two million shares in issue with a current
market price of E60 per share. The company has just paid a dividend of 3.80 per share.
The table below shows the dividends paid from 2014 to 2017

Year 2014 2015 2016 2017
Dividend 1.80 2.50 3.50 3.00

IPMC has fifty thousand 12% coupon bonds which mature in ten years’ time. The
bonds have a yield to maturity of 11 92%. The par value of each bond is E1 000.

IPMC has five miliion, 10%, irredecmable preference shares with a par value of E10.
These preference shares are currently trading at E12.50. :

The corporate tax rate is 30%.
Required:

Calculate the Weighted Average Cost of Capital of IPMC.
(20 marks)
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QUESTION 5 (20 marks)

Steelbase Investments (Pty) Limited is an exporter on steel fabricated products to
countries in the SADC region. Its management has approached you as a finance expert to
help them prepate for the forthcoming financial year. They anticipate that business likely
to be good but they worried that if they do not plan the company’s finances properly, they
might jeopardise the future of the company.

The company has hired you to prepare a cash budget plan for the forthcoming four
quarters.

All sales are made on credit and collected as follows:
e 50% in the quartet of the sale;
e 30% in the quarter after the sale;
e 15% in the second quarter after the sale;
o 5% will default on their payments.

Purchases are made on credit and paid as follows:
e 60% in the quarter of the purchase and
o  40% in the quarter after the purchase.

Administration expenses {rent, stationary e.t.c) will be E100 000 per quarter. Major
repairs and maintenance will cost E760 000 and will be paid in equal instalments over
four quarters from Quarter 1 to Quarter 4. Water and electricity is estimated to be 10% of
sales and is paid in the quarter it is incurred. Export licence fees are ES50 000 per year and
are paid in Quarter 1 and Quarter 3 in equal instalments.

Cash on hand on at the beginning of Quarter 1 is expected to be zero, however the
company has agreed o maintain a minimum cash balance of E250 000 at all times with

immediate effect.

Sales for last 2 quarters of the previous financial year (Quarter 3 and Quarter 4) were E1
500 000 and E1 200 000 respectively while purchases for Quarter 4 were E850 000. The
estimated sales for Quarter 1, Quarter 2, Quarter 3, Quarter 4 and Quarter 5 are shown
below.

Sales (E)
Quarter | 1 600 000
Quarter 2 1 500 000
Quarter 3 1 100 000
Quarter 4 1 200 000
Quarter 3 1 200 000

Purchases are 50% of next quarter sales.
(20 marks)
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APPENDIX A: SELECTED RATIOS AND FORMULAE
ROA = NPAT / Total Assets
Current Ratio = Current Assets / Current Liabilities
FEquity Multiplier = Total Assets / Equity
Inventory Turnover = Cost of Goods Sold / Inventory
Times Interest Earned = PBIT / Interest paid
Net Profit Margin = NPAT / Sales
P/E. ratio = Market price per share/ EPS
Total Debt ratio = Total debt / Total Assets
ROE = NPAT / Equity
Accounts receivable Period = Accounts Receivables / Sales X 360 days
Inventory period = Inventory / COGS x 360 days
Debt: Equity ratio = Total Debt / Total Equity
ROE = PM x TAT x EM
Market-to-book ratio =  Market price per share / book value per share

FV of a lump sum =pVx(d+r)
PV of a lamp sum —FV/(Q+1)'

1 —_—
FV of annuily =C X (Qf—?——wl—}

PV of annulty =C X

- —
(1+n

Bond Value = cxpi-1/a+n1/r + F/(1+1)
P, =D;/(1+r)+D2/(1+r)2+ ....... Dt/(1+r)'+Pt/(1+r)‘
R =Dy/Py+g

Rp =D/Py

P, =Dwm/(R-8)

E P D
WACC = (vx RE){Vx RP]-#(VX Ry x(lmTc))

Rg =Ry +Pe xR ‘RF)

» YTM =

i+(Fd_—Vd)/Tl
(Fd—!-ZVd)/S
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